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QUESTION 1

Which tool in a Juniper Networks SDSN solution is responsible for telling Juniper and third-party network switches to
block a threat in real time? 

A. Policy Enforcer 

B. Sky ATP 

C. Juniper Secure Analytics 

D. SRX Series device 

Correct Answer: B 

 

QUESTION 2

You are asked to propose a security solution that integrates with OpenStack, Kubernetes, and OpenShift. Which Juniper
Networks product will work in this scenario? 

A. Sky ATP 

B. SDSN 

C. Contrail Security 

D. JSA 

Correct Answer: C 

 

QUESTION 3

Which compliance standard must be taken into account when designing a network that will be handling credit card
transactions? 

A. HIPPA 

B. PCI 

C. FIPS 

D. SOX 

Correct Answer: B 

 

QUESTION 4

In a network design using the traditional tiered structure, which two tiers connect to untrusted domains? (Choose two.) 
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A. access 

B. WAN edge 

C. core 

D. aggregation 

Correct Answer: BD 

 

QUESTION 5

You are evaluating an existing network to determine requirements for a network upgrade. In this scenario, which
statement is true? 

A. A network baseline identifies devices that do not have redundant components. 

B. A network baseline identifies traffic growth patterns across network devices. 

C. A network baseline identifies how many users are connected to the network. 

D. A network baseline identifies the type and level of traffic load on the network. 

Correct Answer: D 

 

QUESTION 6

You are designing a network management strategy for a new network. The requirements for the 

management of network devices are shown below: 

Administrator passwords must have an expiration date. 

Administrators must be assigned role-specific privileges on each device. 

In this scenario, which statement is true? 

A. Local authentication must be used on each device. 

B. A centralized AAA system must be used for authentication. 

C. All devices must be configured with the same privilege levels. 

D. Each user must have a unique login account. 

Correct Answer: B 

 

QUESTION 7

What should be included in a network design to improve resiliency? 
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A. climate control systems 

B. redundant power supplies 

C. out-of-band management 

D. in-band management 

Correct Answer: B 

 

QUESTION 8

When discussing network reliability, what does the term "five nines" mean? 

A. The network is up 99.999% of the time. 

B. The network is up .99999% of the time. 

C. The network is up 9.9999% of the time. 

D. The network is up .09999% of the time. 

Correct Answer: A 

 

QUESTION 9

What are two valid reasons to implement a network management solution within your network infrastructure? (Choose
two.) 

A. to increase network visibility 

B. to eliminate the need for network planning 

C. to reduce network operating expenditures 

D. to reduce network capital expenditures 

Correct Answer: AC 

 

QUESTION 10

Which two statements are true about a service-centric data center model? (Choose two.) 

A. A service-centric data center model pools compute resources. 

B. A service-centric data center model pools storage resources. 

C. A service-centric data center model does not pool storage resources. 

D. A service-centric data center model does not pool compute resources. 
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Correct Answer: AB 

 

QUESTION 11

Which two elements of customer data would you use to determine the applications that your customer uses most often?
(Choose two.) 

A. business goals 

B. questionnaires 

C. corporate policies 

D. interviews 

Correct Answer: BD 

 

QUESTION 12

Which two features would cause latency in a WAN connection? (Choose two.) 

A. IPS 

B. syslog 

C. telemetry 

D. UTM antivirus 

Correct Answer: AD 

 

QUESTION 13

Which automation tool uses the master/minion model for changes? 

A. Puppet 

B. Chef 

C. SaltStack 

D. Ansible 

Correct Answer: C 

 

QUESTION 14

A customer wants to implement an automation system that can update BGP routes without commits and 
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can make hundreds of changes per minute. 

Which Junos automation tool would accomplish this task? 

A. REST Explorer 

B. JSNAPy 

C. JET 

D. event scripts 

Correct Answer: C 

 

QUESTION 15

Which Juniper automation tool enables administrators to write custom Python scripts that use the Junos XML API? 

A. REST Explorer 

B. JSNAPy 

C. JET 

D. PyEZ 

Correct Answer: D 
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